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PROVISIONAL ANSWER KEY

Name of The Post Industrial Safety and Health Officer,
Class-2

Advertisement No 12/2023-24

Preliminary Test Held On 17-09-2023

Que. No. 1-300

Publish Date 20-09-2023

Last Date to Send Suggestion (S) 29-09 -2023

Instructions / }jell (Physical Submission)

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).
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A2 (e WA i [sey uie s

(A) "= 1 (B) WA 2 ¢4, 3

(C)WAT, 2213 @2, 3044
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3. aisudl [l 4. uRuSlY AAe (Financial Mobilization)
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@)Geion-u dnanui stueii-l cudlleidl
(B) Y™ 217 4L 6i {12 AR S W2 A dan
(C) MRl HI2 @an [Rula 4lou dd-t duy sid-l Hindla gauail YRkd sl
(D) 514, D2 244 02 usiu Anaa-i x40 512

049. R titRRIAL 5UL 2174269¢ uugll uiedll-l culsa e @ sa-l AMRSR 200 9 ?
(A) A2 19 @>1129¢ 21
(C) x14%9¢ 25 (D) A4 %9¢ 29

050. UAULHL SIS weL AL AU Y] (A 2a [2a 3813 28 di A 6iss vudl 53l a3 ?
(A) 30 Bax @)oo ax (C) 90 Bax (D) 120 Bax

051. SWIFT (Rag2) Halxo algedjys un g o ?
.Society for Worldwide Interbank Financial Telecommunication
(B) Security for Worldwide Interbank Financial Telecommunication
(C) Society for Worldwide Interbanking Financial Telecommunication

(D) System for Worldwide International Financial Telecommunication
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(A) ASHL UL 2R WS Qv Sl R
@)1 wrru 2R A avy Gla 1A 0 21012 G122 20e U A $A dlu AR
(C) As 3160l tuggiL vRl unidR LAl €l “wisB-2 U quwy glu AR
(D) 2uuigfl 245y 1l
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(A) U212 HIm, Yrau Yl
(B) RBI 4 [Aua
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(D) RBI cuid) oirsi widefl o €3 (B d d

054. ‘Y2 HYR A 221 DA WA 56 ouoid W2 sa4i 2udl 8l ?
(A) IRDA A a4 U515 27 Usd vi-uaa-ll ulan
@169 S-adia-u Fuas-) ullan
(C) [agell yidlau Su-llaain cudHi cuaAy sau i3
(D) dla YR adlan (Insurance reforms)
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055. SOIL HEALTH CARD SCHEME- 231 cui+t g uvicuni 2udl 9 ?
(A) ‘U $iu, HIR 51U’ (Per Drop, More Crop)
@) 222 121, via 20
(C) ‘dld 2L, vid 82U’
(D) ‘¢ ¥id, sRuicll udl’

A
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(A) 5[ Gewe atian vidRiHL GualoL AL

(B) 4l ulana 53 :dteaiq 2uual

(C) W< RiaTiL 24 Gewe AW 6913+ A -
@)zus R ugla (s

057. SIRAHL S0 (Fruit) GAleHl 53 A% nau 24 8 ?

(A) Brix us (B) 50l
@22 (D) HuEa

058. [da- 22l HI2 dlotd B3 AU H357 101 % 52 69 ?
(A) UN - 248512 ulRue (B) (A2 2euzey o187
(C) UN g+t 2016+ @) 25 i

059. 31iA(Zs [R[ads-l el st Win s HIRd 8 53 AS4A ?
@ ;2.0 (Skills) Qs Wits (B) Ay, Iy s e Alos-iil-l ws
(C) buny Yy €40 8213l (D) 623 [z vuollsw

A\ Y S\

060. IR AR vigdl 214 A si-i cucud ameai, $aufl v vrzis’-u cudiui adl ausedl sl e ...

a5y g,
@i o (B) »lulat 33
(C) AN 543 (D) 204321 2y

061. MR- HeTayRl AS2 2t ueifa Gailou-l Al WA 58 Al =il -8l ?
(A) ¢l — aix Bewgn, ol dl2l
(B) U8IRAYR — 51 5518l
@010 — Bz [izew, wuiHionsa AP uy
(D) FEHR — HAAL AHLA
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064.

06S.

066.
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068.

Al Rad sulatiat siulRe s sastgldl’ (CSR) 2iddld aHl%s 8 U W sau-l iy 69,
% sl 53 CSR- Halemi Ha ag el ?

(A) wslas Aauq, A8eR 214 @Ry (B) [Qa1, 224941

@)= vaiA e (D) A4 et A8

WA GIRAL s He A ‘At REuu Rame’ sdami 2ud © ?

(A) Wl udordl (B) 18N soug
(C) nslf A2 @)1 3
Agnd §rdleye s via-iaulE - yeaau sui sudg 9.

(A) Heoelug-n &

(C) WLl (D) 62 6121 gy

Slrsun $rdleye 2is viE@su (A2 vl [Qu-il 2inm s2i.

1. TIA )l 204+t 000 §.21. 194840 48 edl.

2. PSLV-C30 g1 2a[Ud 2134 2zgide-l eiritazHi IA )l vior s1o1a-l affist 261 sdl.
(A) WA 1 @2

(C) 191 2 6iA (D) GURisd WA 18 vt 1l

cuRdla vtasiell Aa-iA Yreu 2iudl 12 Uldortdl ervaan su1 Mg se-l Wi sal Q ?
@)~NETRA (B) EMISAT
(C) NavIC (D) GEMINI

Ao 4él-u PSLV (Wi A2ade di-y [l sa)-l [asHl 244 Aiauist G-l -l a6 ?

(A) AgA 1 24 {450 uauR

-\

(B) MRl uam vasiami ddl daguon sgide’ -l awu-l
(C) 104 GuAgi - [asdl usn G
@)Guisd anum

IRNSS 2 un g & ?

(A) Indian Rational Navy Satellite System
.Indian Regional Navigation Satellite System
(C) Indian Regional Navy Satellite System

(D) Indian Remote Navigation Satellite System
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LIGO ¢ ?

(A) RUAAHA AL ruadl s srgardlu su-l

@12t 400 cun Aadl 236 AAR 5 Rad waloeuo

(C) yrii+ll [Agin 2dzen 5 o [alan Suswu [Aeufdl w2 s 52 9.
(D) AU WElse u gnaq sl AsulAs e

‘g ?

(A) ddles e (B) YulAs 52 [Ruda
@4 25 Brusa (D) 23R

w2 (At asil .

%2

1. WA UBIR U Yg Sllsier 8.

2. Ry’ edldlse ddlsier 8.

(A) WA 1 (B) H13A 2

@1 211 2 vin (D) 15 uat Al

A O

A2 WA 53 25 uida w8 dan um [AsiA Houau gkl a3 saHl 2uda widy ol ?

(A) NARI (B) eSamvad (S¥e)

(C) SHe-Box @c-rakAM

NN AWH] MR Alell 33U 21 (U] aH H[E2-U21s Al YUR S1HUYRR ......... vild dlmd A
20 69,

(A) Slrsun $-22l2y2 25 [RHl2 Al esugH (ITRS)

@) Fsun $S=A2y2 2iis Adlsa MAID, Y (1TM)

(C) Slrsurt §-22812y2 s A S~ 2v3 25dl®, Rvariauyu (1IST)

(D) AR §Eley2 s WA, S5UAD 2Uvs Jaquure 28, dl [2edl

yal %Al HIBYR, oNAS 2 HUAHHE S1A 2AdSAUEL AL USIAL 52 WIS 54 U 2021
SAUUL 2y 8 ?

(A) AU 2iseY [ SNEREEREIEGY

(C) U 593 (D) AR, bgoLs

hY h = 5 hY . N e (GG ~ . = ~
a, b, ¢ 21 d A AgsH % sALS, % sALS, 3 SALS 2 g sesHl [ 2o yel 54, NA-unidl sid QAad

Jorami Alel 291 AHY ARyl ?

(A)a ®»

©d (D)c

[BFS] [PT.O. n



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


076.

077.

078.
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6] AuALAL 3:4 AL ARUTIRHE . 4 dH-L LCM 120 €. dl w0124l A0 g 2 ?
&0 (B) 140
(€) 35 (D) 105

0.73) +(0.27)°
(0.73)% +(0.27)* - (0.73 x 0.27)

=(?)
(A) 0.27 (B) 0.4087
(C)0.73 @1

J10+ 26 + 2410 + 2415 =7
@& 243445 B)V2+3 -5
©)V2+-/5-43 (D) Gunizll 215yt 1l

75 9Ll uHe o U A% 47 [BAl ] 20 8d. wiesndl amal HeY 5 s 91 awn
45 [3al ¢g, 2uR dg wrdlds ax 25 Bal ¢d. dl 21 75 ©isd2 axed aralds w30 Ay
seg e ?

(A) 34 (B) 36

() 30 @)46.73

Y Y
.

6] v 42 dgldd 10 €. St dHAL HRAUUAL WidHL L8 8. ol -l v 2kl
(A) 28 (B) 45

(C) 35 [1)]E

g adl uel (Rl G 2 Dl GH -l eiar 7:9 ¢al. o av udal Rl i Al Gu:
Q22 9LRITR 1:3 ell. % MU Al 18 U a4 aud Hi2l gl dl vl gradll GHz sedfl eal ?
(A) 8 (B) 4

(C) 16 aM @12

16 YL 49 [2auui 2is 514 Y s30 A3 6. 14 YA 514 5207, A3 54 A1 8 [Bauul d2il AssA 51

yR 531 . oudld 511 24 [Bauni u 59 033 81U dl Slaqil assidui ay sean Yl GHa AdH ?
(A) 21 (B) 28

(C) 16 @14

25 5131 alun Z- [3Hd 3 1250 ¢dl. d Ad g1=1L 3 1500 Hi dAmi 2udl. dl 451 21l sedl gal ?
(A) 21% (B) 24%
(C) 25% @20
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084. s Qui (RUElsa)l [(Bud usal 20% a8 9. 2+ uedl AN B2Lsl A S18L 25% -l 8213l A 8.
Qui-fl 2ilau Buaui 2siudl-l $3512 Al
(A) 20% (B) 18%
(C) 38% () PERERN]
5 3
085. 30241 U = (?)
(A) 920 (B) 940 (C) 960 @ 1620
086. a, b A1 ¢ ¥ 2454 3L. 15,400, 31. 18,200 i 3L 12,600 1 st 530 cuolledlui uda sul. 6 Hd-u
ugdl b Alsvll drul. oA 8 HIS-L Ul 31 28,790 Al 51 AL SIA dl 4514 ¢ -l [341 s2al 8o ?
@:.. 3710 (B) 3L 9432 (C) 3L 8352 (D) 3L. 8568
087. ol WSUL g4 12 ses 21 16 scesHi 218l M as 9. Ao wdu 30 sausul 208 vudl 53 a5 ©. A
AU WISUL VAT 2110 244 245 018 511 53, dl 205 MRAS g WS S2Al AHY A8l ?
4 1 8 2
A) 10— B)9— — D)7=
(410~ ®)9 @ ®)7
088. i eisdlR 20 2R eisauni viedl AHY A 9 F2dl AuY 5121 50 Hl2R $aR saUL AL 9. 1R B
1 5Ll o 2dR 51U 8. d eRur €1312 gIRL stuAUHl 20dg id 524 eal ?
@400 022 (B) 40 122
(C) 440 H12 (D) is uL <l
089. AlBdHi dAAdHi sl [Ac1R s W2 Au B Sty 5.0 2iddd s uida @l
SUHL 2y ?
(A) UIP 5.0 @M1 5.0 (C) e-CARe (D) eSARAS
090. “9peg1d WNAL [@A510 Al 860 vigdid UNAL wdd (Al {2 % W 2ul $id d d U2 vigdid
sedl A L WA ?
(A) 25% 5 HSTH 3L 25000 Uld 8522 (B) 50% 5 H$TH 31. 35000 Uld 8522
@752 3 usan 31 37500 uld 8522 (D) 60% 3 Mgty 3L 40000 Ul 8522
091. 2gair-3 et W2 Sud Sdl g2 diraur udui 585 ow 58 Su-l g1 Al scumi e d ?
(A) AHELUE DAL vid (B) 212 [Raad At 2A-[Rudla
w@uvﬂ et s A sudl g ) GuRisd WAl visu 4l
092. HelR22 S12UUR2a AR (AH-sH-2) olld 2022 Al A Yool 5+ U812 sRUEU [Rare Wl

si-ll [Amgs 5291 ?
@s5A dlswa (B) 513l AAwa
(C) ussIdl A8s (D) U852 AlsIYsd

[BFS] [PT.O. m



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


093.

094

09s.

096.

097.

098.

099.

100.

aed dlZele ARuary - 202340 ulddatd B3 Yavlss Dd-u Aldl yau Al [ ARuuq 214
uaH, MRl vl sta e ?

(A) Yl ouild Yvw d~n B) YA ulAd 512

@120 (A oiflaie 2l (D) 2% udlvl 2adiet

IPL 202340 ‘At 2415 4 AR den Hize deyuiotd @aR geuq Bia 58 du-uviadl sa?
@-1s200 252 (B) A8 Yul3ox

(C) AuA AA-3 AR (D) AL AU

AP ARHL 5UL DEAHI 5 8522 (AR Ml AR A12 2311 Uig[ds art ARG at’d S-vuansd yous-lsl
GIRL SAUUL ey 8 ?

(A) WaLE (B) UdHSIA
(C) 1aud @)z acif crs

“AREL 51 AU Ul (AR AL dl 4t e’ vi@aui eaqu [Aldy cuoimidl A505d s
20l HlHL GualoL WL W2 SAUML AR €9 ?

(A) [Becllmi uyru [3UR 2444 Al 51 ougnA [Asmaq we

(B) AHELIUEHT AGRUAL [0 2en a2 st 2us [Qsaaa w2

@i secu vari BuR 2d st oA [Rsuaw w2

(D) iz sfQgi 2uu-uR adlei-i -un e [2edl vud [Qora v st-iaa w2

AlZAHL sl ARAY AR s, ARYUA s dea s SaaUdl A-HRd scHi v 9 ?
(A) A v~ (B) 58l &l
@0 (D) sHa SR

ABARHL Sl gIRL A3 WM, g AR HZu Wesid 29 sauni 20y © ?

@2 (B) 214
(C) s sials2 (D) [Baz:

ALBAHL STAR-C USA $irll 611 618IR WidaHl 2l ¢ ?
(A) $-2ae HiRd) 83 @< -22am1a qar A
(C) $r2ad A2 RS 219 vl (D) $r22d Jadiudi-2 AARAAA

A ARHL s giRL Qg Alell Hig vl A2ande “oydle: 37 di- sl 2u ?
(A) NASA (B) DRDO
@ spacex (D) ISRO
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101.

102.

103.

104.

105.

106.

107.

108.

109.

The portion of the earth and its environment which can support life is known as

(A) Crust .Biosphere
(C) Exosphere (D) Atmosphere
What is troposphere?

(A) Portion of Air

(B) Portion of water
.Lowest layer of atmosphere
(D) Uppermost layer of atmosphere

An example of an abiotic component

(A) Plants (B) Animals

.Soil (D) Bacteria

The atmosphere extends upto a height of about 10,000 km. It is divided into the following four

thermal layers: 1) Mesosphere 2) Stratosphere 3) Thermosphere 4) Troposphere. The correct
sequence of these layers starting from the surface of the Earth upwards is

(A)2,4,1,3 @4.2.1,3
04,2,3,1 D)2,4,3,1

Which of the following is an example of impact of development activities on the Hydrosphere?
.Water pollution (B) Soil erosion
(C) Soil pollution (D) Air pollution

Weather occurs in the earth’s
.Troposphere (B) Mesosphere
(C) Ionosphere (D) Thermosphere

The study of interactions between living and non-living organisms and environment is called

(A) Ecosystem .Ecology
(C) Phytogeography (D) Phytosociology

The environment which has been modified by human activities is called
(A) Natural environment (B) Modem environment

(C) Urban environment .Anthropogenic environment

Driving force of ecosystem is
(A) Plants (B) Biomass energy
.Solar Energy (D) Producers
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110. The organisms which feed on dead organisms and excreta of living organisms are known as
.Decomposers (B) Consumers
(C) Carnivores (D) Producers

111. Which ecological pyramid is always upright?
(A) Pyramid of number (B) Pyramid of biomass
.Pyramid of energy (D) Pyramid of number and biomass

112. Energy flow in an ecosystem is always
.Unidirectional (B) Bidirectional
(C) Circular (D) Reversible

113. The largest reservoir of nitrogen in our planet is:
(A) Ocean .Atmosphere
(C) Biosphere (D) Fossil fuels

114. Aliquid fuel that was formed from the ancient remains of sea plants and animals is
(A) Natural gas .Petroleum
(C) Coal (D) Geothermal energy

115. The purpose of CPR is to:
.Maintain oxygenated blood circulation
(B) Stabilize body temperature to avoid hypothermia
(C) Build upper body strength
(D) Dislodge blood clots within the victim’s lungs

116. The very first thing you should do if you are the first to witness or discover an accident on the job
site is to:

.Activate the emergency response system
(B) Go to the scene and help the person(s) injured
(C) Find and fill out the necessary forms to document the incident

(D) Contact your supervisor to report the incident

117. Shock is the condition where
(A) Lungs are unable to process oxygen normally
(B) Muscles are frozen
(C) Heart stops beating normally and “quivers” instead

.There is insufficient blood delivered to the body cell
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118. Most effective way to prevent hearing loss is
(A) Monitor hearing loss and do hearing test
(B) Always wear hearing protection
.Monitor noise through engineering and administrative controls to minimize overexposure
(D) None of these

119. The effect of electrical shock depends on
(A) Its current
(B) Its duration

(C) Presence of moisture in the environment
.All of the above

120. Forests prevent soil erosion by binding soil particles in their

(A) Leaves .Roots

(C) Buds (D) Stems
121. Color used for radiation hazard is

.Purple (B) Red

(C) Orange (D) Green
122. Which day is celebrated as National Safety Day?

.4“‘ March (B) 26™ March

(C) 4™ April (D) 26™ April

123. Hazard is a situation when there is
(A) Threat of natural calamity
.Threat to property and lives from calamities
(C) Threat for consequences of disaster
(D) All of these

124. Hazard class 3 is

(A) Corrosive (B) Infectious substance
.Flammable liquid (D) Radioactive

125. Additional working capital is
.added to cost of machine (B) deducted from cost of machine
(C) ignored (D) risk to machine

126. The cost structure of proposed project must consider
(A) Cost of material inputs (B) Labour cost
(C) Factory overheads .All of these
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127.

128.

129.

130.

131.

132.

133.

134.

135.

To avail finance for a project, what needs to be prepared first?

(A) Detailed report (B) Promoter’s biodata
.Project report (D) Summary report

If the sum of the three consecutive natural number is 87, then the middle number is
(A) 27 @)

(C) 28 (D) 30

|—4|+|4|-4+4=2
A0 (B) 4

©:s (D) 12

What is the rate of discount if a bicycle which costs Rs.4,000 is sold for Rs.3,200?

(A) 14% (B) 16%

@):02% (D) 18%

The size of the cam depends upon

.Base circle (B) Pitch circle

(C) Prime circle (D) Pitch curve
This gas has the maximum value of specific heat ratio (y)

(A) Oxygen .Helium

(C) Methane (D) Carbondioxide

The preference of diesel engines for road transport is due to
(A) easy starting

.low specific fuel consumption over a large range of load
(C) complete combustion of charge

(D) harmless exhaust

In CI engines knocking tendency increases with
(A) increasing compression ratio

(B) increasing the intake air temperature
.decrease in compression ratio

(D) increasing coolant water temperature

Stalling of blades in axial flow compressors is the phenomenon of
(A) Air stream blocking the passage

(B) Motion of air at sonic velocity

(C) Unsteady, periodic and reversed flow

.Air stream not able to follow the blade contour
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136. In a Rankine cycle, regeneration results in higher thermal efficiency because of
(A) increase in pressure inside the boiler
(B) increase in total work delivered by the turbine
(C) additional heat added before the steam enters the low pressure turbine

.increase in the average temperature at which heat is added in the boiler.

137. The sub cooling in a refrigeration cycle
.increases C.O.P. (B) reduces cooling

(C) increases work of compression (D) reduces condenser size

138. At the point of boundary layer separation,
(A) shear stress is maximum .shear stress is zero

(C) velocity is negative (D) density variation is maximum

139. During refrigeration cycle, heat is rejected by refrigerant in a
(A) Compressor .Condenser
(C) Evaporator (D) Expansion valve

140. Usually fins are provided to increase the rate of heat transfer, but fin also acts as an insulation.
Which one of the following non-dimensional number decides this factor?

(A) Eckert number .Biot number

(C) Fourier number (D) Peclet number

141. Crankshaft and gears are made from

(A) Grey cast iron (B) White cast iron
.Nodular cast iron (D) None of these
142. Which of the following is an inversion of double slider crank chain?
(A) Coupling rod of a locomotive .Elliptical trammels
(C) Pendulum Pump (D) Oscillating cylinder engine

143. The cam follower generally used in automobile engine is

(A) Knife edge follower (B) Flat faced follower
.Spherical faced follower (D) Roller follower
144. 1If the angle of the cyclist with normal increases while taking a turn the cyclist should have
.Higher Speed (B) Same speed as before
(C) Lower speed (D) None of these

145. The thickness of thin cylinder is determined on the basis of,
(A) Radial stress (B) Longitudinal stress
.Circumferential stress (D) Principal shear stress
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146.

147.

148.

149.

150.

151.

152.

153.

154.

An optical gauge works on the principle of,

(A) Reflection (B) Refraction

(C) Dispersion .Interference of light rays
On a Psychrometric chart, sensible cooling is represented by,

.Horizontal line (B) Inclined line

(C) Vertical Line (D) None of these

How many atoms are there in an HCP crystal structure?

A8 (B) 4

.6 (D) None of these
By what process maximum hardness is obtained for a steel part?
(A) Carburizing @)nitriding

(C) Cyaniding (D) Annealing

If the axes of first and last gear of a compound gear train are co-axial, the gear train is known as

(A) Simple (B) Epicyclic
.Reverted (D) Compound

At resonance, the amplitude of vibration is

.Very Large (B) Small

(C) Zero (D) Depend on Frequency

In PERT, the distribution of activity times is assumed to be
(A) Normal (B) Gamma
.Beta (D) Exponential

Simplex method of solving linear programming problem uses
(A) all the points in the feasible region

.only the corner points of the feasible region

(C) intermediate points within the infeasible region

(D) only the interior points in the feasible region

Viscosity of a fluid

.decreases with increase in temperature
(B) increases with increase in temperature
(C) depends upon the pressure of the fluid

(D) is the same at all temperature

[BFS] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


158.

156.

157.

158.

159.

160.

161.

162.

163.

164.

Critical speed of a turbine is
(A) same as runaway speed
(B) speed that will cause mechanical failure of the shaft

.speed at which natural frequency of vibrations equals the number of revolutions in the
same time

(D) speed equal to synchronous speed of the generator

Axial thrust is zero in

.Screw pump (B) Axial flow pump
(C) Vane pump (D) Lobe pump
Thread rolling is restricted to

(A) Ferrous materials .Ductile materials
(C) Hard materials (D) None of these

A casting defect which results in general enlargement of a casting is known as

(A) Shift (B) Sand wash

@sven (D) Scab

EDM is generally preferred for

(A) Non-ferrous materials (B) Non-metallic compounds
(C) Polymers .Hard Materials

The process of putting a rod through several dies of decreasing diameter is known as
(A) Rolling (B) Stretch forming
(C) Trimming .Wire drawing

Vacuum Environment is required in

(A) Ultrasonic welding (B) Laser beam welding
(C) Plasma arc welding .Electron beam welding
Nickel when added to copper increases

(A) Strength @ Hardness

(C) Strength and Hardness (D) Strength and Ductility

A material having different properties in different directions is known as
(A) Amorphous (B) Copolymer
.Anisotropic (D) Austenite

Recrystallization temperature for alloys is approximately equal to

(A)02T, (B)03T_ @ost (D)0.8T,
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16S.

166.

167.

168.

169.

170.

171.

172.

173.

174.

The arc in the arc welding is created by
(A) Current (B) Voltage
(C) Frequency .Contact resistance

Farad is unit of

(A) Resistance (B) Flux

(C) Inductance .Capacitance

An instrument which gives total quantity of energy passed through in a given time is called
(A) Recording instrument .Integrating instrument

(C) Indicating instrument (D) Digital instrument

Measuring range of voltmeter can be extended using
(A) High shunt resistance (B) Low shunt resistance

.High series resistance (D) Low series resistance

Which of the following ampere-second could be the unit?
.Charge (B) Power
(C) Reluctance (D) Energy

One Newton meter is same as
(A) 1 Watt @1 J0ule
(C) 1 Joule/sec (D) 1 kKWH

Which of the following can have negative temperature coefficient?

(A) Compounds of silver (B) Liquid metals
.Electrolytes (D) Metal with alloys
The filament of an electric bulb is made of

.Tungsten (B) Aluminium

(C) Silver (D) Nickel

One coulomb is equal to the charge on

(A) 6.24 x 10'? electrons (B) 6.24 x 10** electrons
.24 x electrons .24 X rotons

C) 6.24 x 103 el 6.24 x 108 p

The property of the conductor due to which it passes current is called
.Conductance (B) Inductance
(C) Resistance (D) Capacitance
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175.

176.

177.

178.

179.

180.

181.

182.

183.

An ideal closed switch has a resistance of

(A) Infinite .Zero

(C) Approximately 50 Q (D) Approximately 500 Q
A field of force can exist only between

.Two ions (B) Two atoms

(C) Two metals (D) Two metal particles

Varistors are

(A) Insulators

(B) Carbon resistor
.Non-linear resistor

(D) Resistance with zero temperature coefficient

If the efficiency of a machine is to be high, what should be low?
(A) Machine power input .Losses
(C) Ratio of output to input (D) All of the above

In the case of direct current for a constant load
.Magnitude and direction of current remains constant
(B) Magnitude and direction of current changes with time
(C) Magnitude of current changes with time

(D) Magnitude of current remains constant

Ohm’s law is applicable to
(A) Semiconductors (B) Carbon resistors
(C) Vacuum tubes .None of the above

Two incandescent light bulbs of 40 W and 60 W ratings are connected in series across the mains.
Then

.The 40 W bulb glows brighter (B) The bulbs together consume 100 W
(C) The 60 W bulb glows brighter (D) The bulbs together consume 50 W

A circuit component that opposes the change in the circuit voltage is
(A) Resistance .Capacitance
(C) Inductance (D) Charge

In an AC circuit a low value of KVAR compared with KW indicates
(A) Low efficiency (B) Unity power factor
.High power factor (D) Maximum load current
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184.

18S.

186.

187.

188.

189.

190.

191.

192.

193.

When an alternating current passes through an ohmic resistance the electrical power converted
into heat is

(A) Apparent power .True power
(C) Reactive power (D) None of the above

The power factor of practical inductor is

(A) Unity .Lagging

(C) Zero (D) Leading

Skin effect occurs when a conductor carries current at frequencies

(A) low (B) zero

.High (D) None of the above

Trickle charger of a storage battery helps to

.Keep it fresh and fully charged (B) Increase its reverse capacity

(C) Prevent sulphation (D) Maintain proper electrolyte level

When two batteries are connected in parallel, it should be ensured that

(A) They have same current (B) They have same ampere hour capacity
.They have same EMF (D) They have identical internal resistance
In lap winding the number of brushes is always the number of poles

(A) Double .Same as

(C) Half (D) Number of poles + 1

In a DC machine the number of mechanical and electrical degrees will be same when the number
of poles on the machine is

@): (B) 6

4 D)8

The efficiency of chimney is approximately

(A) Dam (B) Spillways

(C) Headworks .Penstock

The modern steam turbines are

(A) Impulse turbine .Impulse-reaction turbine
(C) Reaction turbine (D) Kaplan turbine

The minimum dielectric stress in a cable is at
@1.cad sheath (B) Bedding
(C) Armour (D) Conductor surface
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194.

195.

196.

197.

198.

199.

200.

201.

202.

203.

If the length of a cable is doubled its capacitance is

(A) Remains same (B) Halved

.Doubled (D) Quadrupled

A transformer has negative voltage regulation when its load power factor is
(A) Zero .Leading

(C) Lagging (D) Unity

Efficiency of a power transformer is of the order of

(A) 100% (B) 50%

@95 (D) 25%
Maintenance requirements are minimum in case of

.Electric locomotive (B) Steam locomotive
(C) Diesel electric locomotive (D) Diesel engines

INlumination of one lumen per square meter is called

(A) Lumen metre .Lux

(C) Candela (D) Foot candle
The temperature of plasma torch is of the order of

(A) 10000°C @)33000°C
(C) 5000°C (D) 75000°C

The main purpose of performing open-circuit test on a transformer is to measure its
(A) Total loss (B) Copper loss
(C) Insulation resistance .Core loss

Which of the following is not included within the meaning of the term public emergency mentioned
under Section 5 of the Factories Act, 1948?

(A) War .Armed conflict

(C) Internal disturbance (D) External aggression

How many days, prior to using any premises as a factory, occupier needs to send a written notice
to the Chief Inspector as per the Factories Act, 1948?

(A) 5 days (B) 10 days
.15 days (D) None of the above

Which of the following is the prescribed period within which all doors and window frames need to
be painted at least once as per the Factories Act, 1948?

(A) 2 years (B) 3 years
(C) 4 years .5 years
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204.

20sS.

206.

207.

208.

209.

210.

211.

212.

Which of the following is the number of ordinarily employed workers prescribed in the Factories
Act, 1948 for making provision of cool drinking water during hot weather in the factory?

(A) More than 100 (B) More than 150
(C) More than 200 @ Vore than 250

Which of the following provisions of the Factories Act, 1948 provides for the prohibition of
employment of women and children near cotton-openers?

(A) Section 25 @section 27

(C) Section 31 (D) Section 33

Which of the following provisions of the Factories Act, 1948 provides for the Safety Officers?
(A) Section 40A @section 408

(C) Section 41A (D) Section 41B

What is the minimum number of ordinarily employed workers in every factory for providing an
ambulance room of the prescribed size as per the Factories Act, 1948?

(A) 200 (B) 250 @00 (D) 1000

Which of the following is correct with respect to the period within which compensatory holidays
may be availed as per the Factories Act, 1948?

(A) Within the month in which the holidays becoming due

(B) Within one month immediately following that month

(C) Within two months immediately following that month
.All of the above

What should be the maximum dry bulb temperature of any room in any cotton weaving factory
for it to be artificially humidified as per the Gujarat Factories Rules, 1963?

(A) 84 degree .85 degree (C) 86 degree (D) 87 degree

What is the time prescribed under the Gujarat Factories Rules, 1963 within which no reading
shall be taken on any hygrometer for record after renewal of water in the reservoir?

.15 minutes (B) 30 minutes

(C) 45 minutes (D) 60 minutes

What may be the maximum wages drawn by a person employed in a supervisory capacity for
being considered as a worker as per the Code on Wages, 2019?

(A) 10,000 rupees .15,000 rupees

(C) 20,000 rupees (D) 25,000 rupees

Which of the following Section of the Code on Wages, 2019 provides that no discrimination can be
made in the matters relating to wages on the ground of gender?

.Section 3 (B) Section 5

(C) Section 7 (D) Section 9
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213.

214.

215.

216.

217.

218.

What will be the number of independent members in the committee constituted for recommending
the minimum wages as per the Code on Wages, 2019?

(A) Not exceeding one-fifth of the total members of the Committee
(B) Not exceeding one-fourth of the total members of the Committee
.Not exceeding one-third of the total members of the Committee
(D) Not exceeding half of the total members of the Committee

What may be the maximum amount of fine which may be imposed on any employee in any one
wage-period as per the Code on Wages, 2019?

(A) 2% of wages payable in respect of that wage-period
.3% of wages payable in respect of that wage-period
(C) 4% of wages payable in respect of that wage-period
(D) 5% of wages payable in respect of that wage-period

Which of the following chapter of the Code on Wages, 2019 provides for the payment of bonus?
(A) Chapter IT1 @ chapter 1v
(C) Chapter V (D) Chapter VI

An employee dismissed from service for the following reasons shall be disqualified from receiving
bonus as per the Code on Wages, 2019.

(i) Fraud

(ii) Theft of any property of the establishment

(iii) Allegation of sexual harassment

Which of the following options reflect the correct status?

.Only (i) or (ii) (B) Only (ii) or (iii)

(C) Only (iii) or (i) (D) Either (i) or, (ii) or (iii)

What percentage of available surplus, in case of an establishment other than banking company,
may be paid as bonus as per the Code on Wages, 2019?

(A) 60% (B) 63%

(C) 65% @7

What is the time limit prescribed under the Code on Wages, 2019 for the payment of bonus to an
employee by the employer in general?

(A) Within a period of three months from the close of the accounting year

(B) Within a period of six months from the close of the accounting year

.Within a period of eight months from the close of the accounting year

(D) Within a period of nine months from the close of the accounting year
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219.

220.

221.

222.

223.

224,

225.

226.

How many representatives from State Government may be nominated by the Central Government
in the Central Advisory Board constituted under the Code on Wages, 2019?

(A)3 ®:s

(&N (D) 10

What is the punishment prescribed under the Code on Wages, 2019 for an employer who pays to
any employee less than the amount due?

(A) Fine up to twenty thousand rupees (B) Fine up to twenty-five thousand rupees
.Fine up to fifty thousand rupees (D) Fine up to one lakh rupees

Which of the following Schedule of the Employee’s Compensation Act, 1923 provides for the list
of occupational diseases?

(A) Schedule T (B) Schedule IT
cnedule cnedule
@schedule 11 (D) Schedule IV

Who among the following cannot be considered as dependent of a deceased employee as per the
Employee’s Compensation Act, 1923?

(A) Widow (B) Minor son
.Married adopted daughter (D) A widowed mother

What is the minimum duration for which an employee must be partially disabled due to accident
arising in the course of employment to be entitled for compensation under the Employee’s
Compensation Act, 1923?

.Exceeding 3 days (B) Exceeding 5 days
(C) Exceeding 7 days (D) Exceeding 10 days
By which of the following Amendment Act, provision for the reimbursement of medical expenditure

incurred by the employee in the treatment of injuries caused during the course of employment was
inserted under the Employee’s Compensation Act, 1923?

(A) The Amendment Act, 1994 (B) The Amendment Act, 1995
@) 1he Amendment Act, 2009 (D) The Amendment Act, 2010

Which of the following Section of the Employee’s Compensation Act, 1923 provides that the
compensation cannot be attached?

(A) Section 6 @)scction 9
(C) Section 12 (D) Section 15

What is the duration within which an employee after giving the notice of an accident needs to
submit himself for medical examination as per the Employee’s Compensation Act, 1923?

(A) Within a day after service of notice has been effected
(B) Within two days after service of notice has been effected
.Within three days after service of notice has been effected

(D) Within seven days after service of notice has been effected
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227.

228.

229.

230.

231.

232,

What is the nature of a contract entered between an employee and an employer prior to coming
of the Employee’s Compensation Act, 1923 whereby the employee relinquishes his right of
compensation?

(A) Valid contract .Null and Void contract
(C) Voidable contract (D) None of the above

In which of the following circumstances a person may be punished with a fine ranging from
fifty thousand to one lakh rupees as per the Employee’s Compensation Act, 1923?

(A) When the person obliged to maintain notice-book under Section 10(2) fails to do so.
(B) When the person obliged to send report under Section 10A fails to do so

.When the person obliged to make a return under Section 16 fails to do so

(D) When the person obliged to inform the employee under Section 17B fails to do so

What is the limitation period prescribed for taking cognizance of an alleged offence by the
court from the date of it coming to the knowledge of the commissioner as per the Employee’s
Compensation Act, 1923?

(A) 3 months .6 months
(C) 9 months (D) 12 months

What is the time limit prescribed for the commissioner to dispose the cases related to compensation
as per Section 25A of the Employee’s Compensation Act, 1923?

.3 months (B) 6 months
(C) 9 months (D) 12 months

An enrolled workman is not entitled to any unemployment allowance as per the Gujarat Payment
of Unemployment Allowance to Workmen in Factories Act, 1981 if the employer fails to provide
the employment to such workman on account of the following reasons.

(A) Reduction of not less than twenty five percent of the maximum demand for electrical energy
(B) Reduction of not less than fifteen per cent of the offtake of electrical energy

(C) Both (A) & (B)

@ ~cither (A) nor (B)

Which of the following reflects the correct amount payable as unemployment allowance under the
Gujarat Payment of Unemployment Allowance to Workmen in Factories Act, 1981?

(A) 25% of the total basic wages payable to him per day

(B) 25% of the total basic wages and dearness allowance payable to him per day

(C) 50% of the total basic wages payable to him per day

.50% of the total basic wages and dearness allowance payable to him per day
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233.

234,

23S.

236.

237.

238.

239.

Which of the following court is authorized to take cognizance of any offence punishable under the
Gujarat Payment of Unemployment Allowance to Workmen in Factories Act, 1981?

(A) Court of a Metropolitan Magistrate
(B) Court of a Magistrate of the first class
@3Both (4) & B)

(D) No court can take cognizance of the offence under the Act

Which of the following provision of the Gujarat Payment of Unemployment Allowance to Workmen
in Factories Act, 1981 defines temporary workman?

(A) Section 2(e) (B) Section 2(f)
@section 2(g) (D) Section 2(h)

Which of the following provision of the Gujarat Payment of Unemployment Allowance to Workmen
in Factories Act, 1981 defines unemployment allowance?

(A) Section 2(e) (B) Section 2(f)
(C) Section 2(g) @)section 2(n)

Which of the following provision of the Environment Protection Act, 1986 defines hazardous
substance?

(A) Section 2(d) .Section 2(e)
(C) Section 2(f) (D) Section 2(g)

Which of the following is included within the power of the Central Government to give direction
as per Section 5 of the Environment Protection Act, 1986?

(A) To direct the closure, prohibition or regulation of any industry, operation or process
(B) To direct the stoppage or regulation of the supply of electricity
(C) To direct the stoppage or regulation of the supply of water

.All of the above

Under which of the following provision of the National Green Tribunal Act, 2010 National Green
Tribunal is established?

(A) Section 2 @section 3
(C) Section 4 (D) Section 5

What is the penalty prescribed under the Environment Protection Act, 1986 for contravening any
provision of the Act?

(A) Imprisonment up to 2 years or fine up to one lakh rupees or both
(B) Imprisonment up to 3 years or fine up to fifty thousand rupees or both
(C) Imprisonment up to 5 years or fine up to fifty thousand rupees or both

.Imprisonment up to 5 years or fine up to one lakh rupees or both
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240.

241.

242,

243.

244.

245.

What is the notice period mentioned under Section 19 of the Environment Protection Act, 1986 for
a person making a complaint under the Act?

(A) 30 days @)oo days

(C) 90 days (D) 120 days

Which of the following rules made under the Environment Protection Act, 1986 deals with the
Plastic Waste Management?

(A) The Plastic Waste Management Rules, 2010

(B) The Plastic Waste Management Rules, 2015

(C) The Plastic Waste Management Rules, 2014

.The Plastic Waste Management Rules, 2016

Which of the following rules made under the Environment Protection Act, 1986 was made in the
year 2018?

(A) Bio-Medical Waste Management Rules

(B) Construction and Demolition Waste Management Rules
.Regulation of Persistent Organic Pollutants Rules

(D) Wetland Rules

Which of the following statements is correct in relation to the Central Government power to make
rules under the Environment Protection Act, 1986?

(A) Central Government may prescribe standards in excess of which environmental pollutants
shall not be discharged under Section 6

.Central Government may prescribe standards in excess of which environmental pollutants
shall not be discharged under Section 7

(C) Central Government may prescribe standards in excess of which environmental pollutants
shall not be discharged under Section 8

(D) Central Government may prescribe standards in excess of which environmental pollutants
shall not be discharged under Section 9

Which of the following Section of the Environment Protection Act, 1986 provides for Government
Analyst?

(A) Section 12 .Section 13
(C) Section 14 (D) Section 15

In which of the following year the Environment Protection Act, 1986 is made applicable to Union
Territory of Ladakh?

@019 (B) 2020
(C) 2021 (D) 2022
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246.

247.

248.

249.

250.

251.

252,

Which of the following provision of the Maternity Benefit Act, 1961 defines the term maternity
benefits?

(A) Section 2 (d) (B) Section 3 (e)
(C) Section 2 (g) @)section 3 (n)

Which of the following correctly reflects the period in which an employer shall not knowingly
employ a woman in any establishment as per the Maternity Benefit Act, 1961?

(A) 3 weeks immediately following the day of her medical termination of pregnancy
(B) 4 weeks immediately following the day of her medical termination of pregnancy
(C) 5 weeks immediately following the day of her medical termination of pregnancy

.6 weeks immediately following the day of her medical termination of pregnancy

What is the maximum period for which any woman having two or more than two surviving
children shall be entitled to maternity benefits as per the Maternity Benefit Act, 1961?

(A) 26 weeks (B) 20 weeks
.12 weeks (D) Not entitled after 2™ child

In which of the following case a woman who legally adopts a child is entitled for maternity benefits
for a specified period as per the Maternity Benefit Act, 1961?

(A) Adopting a child below the age of 2 months
.Adopting a child below the age of 3 months
(C) Adopting a child below the age of 6 months
(D) Adopting a child below the age of 9 months

What may be the maximum amount up to which Central Government is authorised to increase the
medical bonus as per the Maternity Benefit Act, 1961?

(A) 5,000 rupees (B) 10,000 rupees
(C) 15,000 rupees .20,000 rupees

What is the maximum period for which a woman employee is entitled to leave for illness arising
out of tubectomy operation as per the Maternity Benefit Act, 1961?

(A) Two weeks (B) Six weeks
.One month (D) Two months

Which of the following correctly reflects the penalty prescribed under Section 21(2) of the
Maternity Benefit Act, 1961?

(A) Imprisonment up to 1 year, or fine up to 2000 rupees, or both
.Imprisonment up to 1 year, or fine up to 5000 rupees, or both
(C) Imprisonment up to 2 years, or fine up to 5000 rupees, or both

(D) Imprisonment up to 2 years, or fine up to 2000 rupees, or both
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253.

254.

258S.

256.

257.

258.

259.

Who among the following is authorised to make rules for carrying out the purposes of the Maternity
Benefit Act, 1961?

.Appropriate Government (B) State Government
(C) Central Government (D) President of India

What is the limitation period prescribed for filing a complaint regarding the commission of an
offence under the Maternity Benefit Act, 1961?

(A) Six months from the date of commission of the alleged offence
.One year from the date of commission of the alleged offence
(C) Two years from the date of commission of the alleged offence

(D) Three years from the date of commission of the alleged offence

Who among the following is not having the locus to file a complaint regarding the commission of
an offence under the Maternity Benefit Act, 1961?

(A) Office-bearer of registered trade union of which the aggrieved woman is member
.Husband of the aggrieved woman

(C) Voluntary organization registered under the Society Registration Act, 1860

(D) Inspector

From which of the following date the Gujarat Physically Handicapped Persons (Employment in
Factories) Act, 1982 is deemed to have come in effect?

@7 october, 1981 (B) 11* January, 1982
(C) 19* February, 1982 (D) 23" February, 1982

In general what should be the number of workers working in a factory for the application of the
Gujarat Physically Handicapped Persons (Employment in Factories) Act, 1982?

(A) 100 (B) 200
@00 (D) 1000

Which of the following is the correct meaning of the term ‘Inspector’ as per the Gujarat Physically
Handicapped Persons (Employment in Factories) Act, 1982?

(A) Inspector means an Inspector appointed under Section S of the Factories Act, 1948
(B) Inspector means an Inspector appointed under Section 6 of the Factories Act, 1948
(C) Inspector means an Inspector appointed under Section 7 of the Factories Act, 1948

.Inspector means an Inspector appointed under Section 8 of the Factories Act, 1948

Which of the following provisions of the Gujarat Physically Handicapped Persons (Employment
in Factories) Act, 1982 defines ‘physically handicapped person’?

(A) Section 2 (d) @scction 2 ()
(C) Section 2 (h) (D) Section 2 (g)
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260.

261.

262.

263.

264.

265.

Which of the following condition is not required for a person to be employed in a factory as per
the Gujarat Physically Handicapped Persons (Employment in Factories) Act, 1982?

(A) He must be an adult

(B) He must be registered with any employment exchange in the State

.A certificate of fitness granted under Section 6 is in the custody of the manager of the Factory
(D) None of the above

Who is responsible to pay the fees payable for the certificate of fitness as per the Gujarat Physically
Handicapped Persons (Employment in Factories) Act, 1982?

.Occupier
(B) State Government
(C) Manager

(D) Person seeking employment

What punishment prescribed for manager who fails to maintain records as required under
Section 6 of the Gujarat Physically Handicapped Persons (Employment in Factories) Act, 1982?

(A) Imprisonment up to 6 months or fine up to S00 rupees, or both
.Imprisonment up to 6 months or fine up to 1000 rupees, or both
(C) Imprisonment up to 1 year or fine up to 500 rupees, or both

(D) Imprisonment up to 1 year or fine up to 1000 rupees, or both

What monetary punishment is prescribed for an occupier who contravenes provisions of
Section 4 of the Gujarat Physically Handicapped Persons (Employment in Factories) Act, 1982?

(A) 500 rupees .1000 rupees
(C) 2000 rupees (D) 5000 rupees

What penalty is prescribed under the Gujarat Physically Handicapped Persons (Employment in
Factories) Act, 1982 for using the false certificate of fitness?

.Imprisonment up to 1 month or fine up to 100 rupees or both
(B) Imprisonment up to 3 months or fine up to 500 rupees or both
(C) Imprisonment up to 6 months or fine up to 1000 rupees or both
(D) Imprisonment up to 1 year or fine up to 1000 rupees or both

Which of the following provisions of the Gujarat Physically Handicapped Persons (Employment
in Factories) Act, 1982 provides for the protection of action taken in good faith?

(A) Section 9 (B) Section 10
(C) Section 11 .Section 12
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266.

267.

268.

269.

270.

271.

272.

Which of the following is not correct with respect to the deletion made in the Labour Welfare
Fund (Gujarat) Rules, 1962 by the Labour Welfare Fund (Gujarat) (Amendment) Rules, 2021?

(A) Rule 3-AA (1) (a) of the Labour Welfare Fund (Gujarat) Rules, 1962 is deleted

(B) Form A provided under the Appendix of the Labour Welfare Fund (Gujarat) Rules, 1962 is
deleted

(C) Both (A) & (B)
.None of the above

Which of the following provisions of the Labour Welfare Fund (Gujarat) Rules, 1962 provides
that the Welfare Commissioner shall be responsible for the disposal of the Audit note?

(A) Rule 4 @rule 5
(C) Rule 6 (D) Rule 8

How many people excluding the Chairman may be the members of the Board constituted under
the Labour Welfare Fund (Gujarat) Rules, 1962?

(A) 11 (B) 12
@3 (D) 14

How many members including Chairman of the Board constituted under the Labour Welfare
Fund (Gujarat) Rules, 1962 shall form the quorum at a meeting of the board?

(A) 4 B) 5

©eo D)7

What is the maximum daily fine for continuing offence of the breach of any rules of the Labour
Welfare Fund (Gujarat) Rules, 1962?

.100 rupees (B) 500 rupees

(C) 1000 rupees (D) None of the above

Which of the following schedule laid down the criteria for considering a chemical as hazardous for
the purpose of the application of the rules pertaining to import of hazardous chemical as per the
Manufacture, Storage and Import of Hazardous Chemical Rules, 1989?

@)part 1 of Schedule 1 (B) Part II of Schedule I
(C) Part I of Schedule II (D) Part II of Schedule 1T

Who is under obligation to notify the concerned authority about the occurring of the major
accident in a pipeline as per the Manufacture, Storage and Import of Hazardous Chemical Rules,
1989?

(A) Lineman .Occupier
(C) Inspector (D) Manager
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273.

274.

275.

276.

277.

278.

279.

Which of the following rule of the Manufacture, Storage and Import of Hazardous Chemical
Rules, 1989 provides for ‘safety reports’?

(A) Rule 5 (B) Rule 7
@rule 10 (D) Rule 15

Which of the following correctly represent the authority responsible for preparing on-site and
off-site emergency plan respectively as per the Manufacture, Storage and Import of Hazardous
Chemical Rules, 1989?

.Occupier and Concerned Authority respectively
(B) Concerned Authority and the Occupier respectively
(C) State Government and the Occupier respectively

(D) Occupier and the State Government

Which of the following Schedule of the Manufacture, Storage and Import of Hazardous Chemical
Rules, 1989 provides for Safety Data Sheet?

(A) Schedule 6 (B) Schedule 7
(C) Schedule 8 .Schedule 9

Which of the following chemical is not in the list of hazardous chemical as per the definition
provided under the Manufacture, Storage and Import of Hazardous Chemical Rules, 1989?

(A) Any chemical listed in Column 2 of Schedule 2 of the Rule
(B) Any chemical listed in Column 2 of Schedule 3 of the Rule
.Any chemical listed in Column 2 of Schedule 4 of the Rule
(D) None of the above

The composition of the Central Crisis Group shall be specified under which of the following
Schedule as per the Manufacture, Storage and Import of Hazardous Chemical Rules, 1989?

(A) Schedule 3 (B) Schedule 4
@schedule 5 (D) Schedule 6

What is the maximum duration within which the Central Crisis Group shall meet at least once as
per the Manufacture, Storage and Import of Hazardous Chemical Rules, 1989?

(A) 2 months (B) 4 months
.6 months (D) 8 months

Who among the following is under an obligation to publish a list of Major Accident Hazard
installations as per the Manufacture, Storage and Import of Hazardous Chemical Rules, 1989?

.Central Crisis Group (B) State Crisis Group
(C) District Crisis Group (D) Local Crisis Group
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280.

281.

282.

283.

284.

285.

286.

Within what period from the commencement of the Manufacture, Storage and Import of
Hazardous Chemical Rules, 1989, State Crisis Group needs to be constituted?

(A) Within 15 days @) within 30 days
(C) Within 60 days (D) Within 90 days
How many Members of Parliament shall be elected by the House of the People as the members of

the Central Advisory Committee constituted under the Building and other Construction Workers
(Regulation of Employment and Condition of Service) Act, 1996?

A1 @

©3 D)5

Who among the following is the ex-officio member of the State Advisory Committee constituted
under the Building and other Construction Workers (Regulation of Employment and Condition
of Service) Act, 1996?

(A) The Director-General .The Chief Inspector
(C) The Chief Justice of the High Court (D) None of the above

Which of the following provision of the Building and other Construction Workers (Regulation
of Employment and Condition of Service) Act, 1996 provides for the functions of the Board
constituted under the Act?

(A) Section 18 .Section 22
(C) Section 28 (D) Section 32

How many female building workers should ordinarily be working on a pace covered under the
Building and other Construction Workers (Regulation of Employment and Condition of Service)
Act, 1996 for having the créche facility?

&@-o (B) 100
(©C) 150 (D) 200
Whoever obstructs an Inspector in the discharge of his duties prescribed under the Building and

other Construction Workers (Regulation of Employment and Condition of Service) Act, 1996 shall
be punished with

(A) Imprisonment up to 1 month, or fine up to 500 rupees or both
(B) Imprisonment up to 2 months, or fine up to S00 rupees or both
.Imprisonment up to 3 months, or fine up to 1000 rupees or both

(D) Imprisonment up to 6 months, or fine up to 1000 rupees or both

Who may be approached in appeal against a penalty imposed by the Director-General in
accordance with the Building and other Construction Workers (Regulation of Employment and
Condition of Service) Act, 1996?

(A) The Chief Inspector (B) State Government
.Central Government (D) High Court
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288.

289.

290.

291.

292.

293.

What is the maximum number of members that may be appointed by the State as a member of the
State Welfare Board constituted under the Building and other Construction Workers (Regulation
of Employment and Condition of Service) Act, 1996?

(A) 12 (B) 13
(C) 14 @15

On which of the following date the Occupational Safety, Health and Working Conditions Code,
2020 received the assent of the President?

(A) 25" September, 2020 (B) 26™ September, 2020
(C) 27 September, 2020 @):25" September, 2020

Which of the following chapter of the Occupational Safety, Health and Working Conditions Code,
2020 deals with the duties of employer and employees?

(A) Chapter I1 @) chapter 11
(C) Chapter 1V (D) Chapter V

For what term an employee may remain as an ex-officio member of the National Board constituted
under the Occupational Safety, Health and Working Conditions Code, 2020?

(A) 1 year (B) 2 years
.3 years (D) 4 years
In which of the following situation appointment of safety officers is not necessary as per the

National Board constituted under the Occupational Safety, Health and Working Conditions Code,
2020?

.A factory wherein two hundred fifty workers or more are ordinarily employed

(B) A building or other construction work wherein two hundred fifty workers or more are
ordinarily employed

(C) Mine wherein one hundred workers or more are ordinarily employed
(D) None of the above

Which of the following welfare facility is not an obligation of the employer to provide for as per
the Occupational Safety, Health and Working Conditions Code, 2020?

(A) Adequate and suitable facilities for washing to male and female employees separately

(B) Bathing places and locker rooms for male, female and transgender employees separately;
(C) Place of keeping clothing not worn during working hours and for the drying of wet clothing;
.None of the above

How many days of work is required for availing one day of annual leave with wages as per the
Occupational Safety, Health and Working Conditions Code, 2020 when the worker is employed
below ground mines?

(A) 24 days (B) 20 days
@15 aays (D) 10 days
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294.

295S.

296.

297.

298.

299.

300.

How many members of the National Disaster Management Authority may be nominated by the
Prime Minister as per the Disaster Management Act, 2005?

&) B) 11

)13 D) 15

Who among the following is authorised to draw up the National Plan under the Disaster
Management Act, 2005?

(A) National Disaster Management Authority

.National Executive Committee

(C) State Disaster Management Authority

(D) Advisory Committee

Which of the following provisions of the Disaster Management Act, 2005 provides for the National
Disaster Response Force?

(A) Section 41 (B) Section 42
C) Section 43 Section 44
(

Which of the following Sections of the Disaster Management Act, 2005 prohibits discrimination on
the ground of sex, caste, community, descent or religion while providing compensation and relief
to the victims of disaster?

(A) Section 34 (B) Section 45
(C) Section 59 .Section 61

Who among the following is authorised under the Disaster Management Act, 2005 to recommend
Government to issue direction to media for communication of warnings?

(A) National Authority (B) State Authority
(C) District Authority .All of the above

Who among the following is provided the power to make regulations under the Disaster
Management Act, 2005 with the prior approval of the Central Government?

(A) National Disaster Management Committee
(B) National Executive Committee
.National Institute of Disaster Management
(D) All of the above

What is the duration within which the power to pass an order to remove difficulties in giving
effect to the provisions of the Disaster Management Act, 2005 may be exercised by the appropriate
authority?

(A) 1 year .2 years
(C) 3 years (D) 5 years
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